                                         Polynomials
The syllabus 
Whole syllabus
Tailored syllabus 
Factorization of the form 
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are integers.

L.C.M and H.C.F
(Not included)

Addition, subtraction,muliplication and division of simple Algebraic fractions
(Not included)

Remainder theorem
Application of Remainder theorem to factorization only

A.Factorization of simple expressions
By taking out common factors: 
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By grouping like terms:
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By using some useful identities:
                                      (i)  
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B.L.C.M and H.C.F

Definition: The Highest Common Factor (H.C.F.) of two or more

                    polynomials is the polynomial of the highest degree

                    which is a common factor of the given polynomials.

                    The Lowest Common Multiple(L.C.M.) of two or more

                    polynomials is the polynomial of the lowest degree 

                    which is divisible by each of the given polynomials. 

Definition: Polynomial in one variable
                A polynomial in 
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 is an algebraic expression of the 
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C. Remainder Theorem
     When a polynomial 
[image: image30.wmf])

(

x

f

 is divided by 
[image: image31.wmf])

(

a

x

-

, the remainder 
[image: image32.wmf]R

 is

     given by 

          
[image: image33.wmf])

(

a

f

R

=

 
Note: When 
[image: image34.wmf])

(

x

f

 is divided by 
[image: image35.wmf])

(

a

bx

-

, the remainder is 
[image: image36.wmf]÷

ø

ö

ç

è

æ

b

a

f

.

D. Factor Theorem    
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Example 1. (a) Factorize 
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Example 2. Factorize 
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 Step 1: Grouping like
             terms

Step 2:Taking common  

             factor
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Example 3. Factorize the following expressions:(Quadratic Polynomials)
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 Taking common factor 2 first and then apply 
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Example 4. Factorize the following:
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     Example.   
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Try this now:

Factorize (a)  
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Example 4. Factorize

                (a)  
[image: image135.wmf]y

xy

y

x

+

+

4

4

2



[image: image136.wmf]y

xy

y

x

+

+

4

4

2



EMBED Equation.3[image: image137.wmf]3

y

-


Solution.   (a)  
[image: image138.wmf]y

xy

y

x

+

+

4

4

2


                        
[image: image139.wmf])

1

4

4

(

2

+

+

=

x

x

y


                        
[image: image140.wmf]2

)

1

2

(

+

=

x

y



[image: image141.wmf]3

2

4

4

y

y

xy

y

x

-

+

+


     
[image: image142.wmf]3

2

)

1

2

(

y

x

y

-

+

=


     
[image: image143.wmf](

)

[

]

2

2

1

2

y

x

y

-

+

=


     
[image: image144.wmf])

1

2

)(

1

2

(

y

x

y

x

y

-

+

+

+

=


     
[image: image145.wmf])

1

2

)(

1

2

(

+

-

+

+

=

y

x

y

x

y


Example 5. Find the remainder when 
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When a polynomial f(x) is

divided by (ax+b), follow the steps below.
Step 1:  Set  ax+b=0

Step 2:  Solve for x 

Step 3:  Put the value of
                x to f(x) for the
                remainder.
Eg.       Set 2x+1=0

               x
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Example 6. (a) Show that  
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Example 7.Factorize (a)   
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 Taking the common factor 3 and then apply 
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